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QUESTION 1

An agricultural corporation that paid 53% in income tax wanted to build a grain elevator designed to last twenty-five (25)
years at a cost of $80,000 with no salvage value. Annual income generated would be $22,500 and annual expenditures

were to be $12,000.
Answer the question using a straight line depreciation and a 10% interest rate.

How much money should be set aside today to have $20,000 available eight (8) years from now if the interest rate is 6%
compounded annually?

A. $31,875
B. $12,550
C. $29,600
D. $13,515

Correct Answer: B

QUESTION 2

Budgeted cost of work scheduled is all of the following except:

A. Total costs incurred in accomplishing work in a given-time period
B. Baseline for performance measurement

C. Sum of the budgets for work scheduled

D. Includes portion of the budget for level-of-effort work

Correct Answer: D

QUESTION 3
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You have estimated that the present day price for a piece of equipment 1s $350,000.
The delivery of the equipment is scheduled 30 months from today. The price of the
equipment has been separated into the following categories:

Category Percent
Steel 30
Copper 30
Manufacturing Labor 40

Based on information from forecasting services, the current cost index value and the
expected inflation rate for each commaodity s as follows:

INFLATION RATE (projected)
Commodity Currentindex | Year1 |Year2 |Yeard |Yeard
Steel 2.40 2.6% 2.5% 3.0% 2.0%
Copper 420 1.0% 1.5% 2.0% 2.0%
Manufacturing Labor | 6.50 25% 3.0% 3.0% 3.5%

The following question requires your selection of CCC/CCE Scenario 4 (2.7.50.1.1) from the right side of your split
screen, using the drop down menu, to reference during your response/choice of responses. What is the cost index value
of copper at the end of Year 2? (rounded to 2 decimal positions)

A.4.62

B.4.24

C.4.10

D. 4.31

Correct Answer: D

QUESTION 4
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You have been hired as the cost engineer for a mechanical contractor and have been
provided the following information:

Total budgeted hours 12,000
The planned project duration in days 130

Rules of credit are as follows:

Pipe received 5%
Hangers installed 10%
Pipe in place 30%
Welded 50%
Flushed %

The following question requires your selection of CCC/CCE Scenario 2 (2.3.50.1.2) from the right side of your split
screen, using the drop down menu, to reference during your response/choice of responses. 10,278 hours have been
expended to date. The CPI at this point in time is 0.93. SPI is 1.03. How many hours have been earned?

A. 9,979

B. 10,586

C. 11,052

D. 9,559

Correct Answer: D

QUESTION 5
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Given the two organization structures below, answer the question.

A
Engineer-Owner

contractor contractor contractor

subcontractors subcontractors subcontractors

Owner
|

i
Engineer/Contractor

subcontractors

The following question requires your selection of CCC/CCE Scenario 28 (3.7.50.1.7) from the right side of your split
screen, using the drop down menu, to reference during your response/choice of responses. Given a unit price contract
between the owner and contractor, each assumes the following:

A. Bid unit rate, owner quantities can exceed estimate range Contractor can perform above

B. Bid unit rate, owner quantities are within estimate range

C. Contractor can perform at or below bid unit rate, owner quantities can exceed estimate range

D. Contractor can perform at or below bid unit rate, owner quantities are within estimate range

Correct Answer: D
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